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All Candidates' performance across questions

Question Title N Mean SD Max Mark FF Attempt %
1 21279 5.1 1.3 6 84.5 99.5
2 21257 2.7 1 4 68.4 99.4
3 21320 2.9 1.7 6 47.5 99.7
4 21261 3.7 13 5 73.3 99.4
5 21056 2.7 1.2 4 66.8 98.5
6 21243 5.1 2.7 9 56.3 99.4
7 19657 1.5 14 4 37.1 91.9
8 21207 1.9 1 4 48.7 99.2
9 21008 1.9 0.9 3 64.8 98.3
10 20177 4.2 2.1 6 69.9 94.4
11 20859 4.6 2.7 8 57.3 97.6
12 20290 2.9 1.4 4 73.2 94.9
13 18229 2.1 2.6 8 26 85.3
14 19135 1.7 1.8 8 21.8 89.5
15 20733 3.4 2.1 8 43.1 97
16 16512 1.6 2.4 7 22.8 77.2
17 20348 1.7 1.8 6 28.1 95.2
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Each crate can hold 72 apples.
How many crates can be filled and how many a
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(b) One thousand apples are put into crates.
Each crate can hold 72 apples.
How many crates can be filled and how many apples will be left over? [2)
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() Onethousand apples are put into crates.

Each crate can hold 72
How many crates can be filled and how many will be left over?
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6. (b) 13 (crates)

13 (crates) with 64 (apples left over.)

M1

Al

For 13 or 13.8(88...) OR 1000/72 OR 936 OR repeated
subtraction 13 or 14 times. 13x72=936, 64 gets M1.A1
MI1,AD for 14 crates and 64 apples.

14 (crates) OR 64 (apples) on its own get M0,A0














Sticky Note

Many candidates stopped at this stage and did not interpret their calculation as 13 crates with 64 apples left over.










(b) One thousand apples are put into crates.
Each crate can hold 72 apples.
How many crates can be filled and how many apples will be left over? [2]
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Sticky Note

Some candidates showed little understanding of the problem.










() Onethousand apples are put into crates.

Each crate can hold 72 apples.
How many crates can be filled and how many will be left over?
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Sticky Note

Many gave incorrect answers with no explanation.










(b) One thousand apples are put into crates.
Each crate can hold 72 apples.
How many crates can be filled and how many apples will be left over? 2]
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10. Week hire = 32.20

4 day hire =16.10+ 3 x 8.15 Ml
=(£)40.55 Al
Difference =40.55-32.20 M1 FT ‘their derived 40.55
= (£)8.35 Al
Look for QWC
¢ spelling 2

clarity of text explanations,
the use of notation (watch for the use of *=", £
being appropriate)

QWC2: Candidates will be expected to

AND

present work clearly, with words explaining
process or steps

make few 1f any mistakes in mathematical
form, spelling, punctuation and grammar and
include units in their final answer

QWC1: Candidates will be expected to

OR

present work clearly, with words explaiming
process or steps

make few 1f any mistakes in mathematical
form, spelling, punctuation and grammar and
include units in their final answer

QWC2 Presents relevant matenial in a coherent and logical
manner, using acceptable mathematical form, and with few
if any errors 1n spelling, punctuation and grammar.

QWC1 Presents relevant matenial in a coherent and logical
manner but with some errors in use of mathematical form,
spelling, punctuation or grammear .

OR

Evident weaknesses in organisation of material but using
acceptable mathematical form, with few if any errors in
spelling, punctuation and grammar.

QWCO Evident weaknesses in organisation of
material, and errors in use of mathematical form,
spelling, punctuation and grammar.
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Sticky Note

A frequent error was to find the cost of another 4 days on top of the first day charge.
The QWC part of the question was well answered.
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Sticky Note

Some candidates did not understand the problem.
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Sticky Note

Some candidates found the question easy and did not give details of their work.










10. You will be assessed on the quality of your written communication in this question.

The table below gives the charges for hiring a concrete mixer by the day.

Charge Charge per day
for the first day after the first day
£16.10 £8.15

Weekend Week
(Saturday & Sunday) (Monday to Friday)
£22.54 £32.20

There are special offers for hiring the concrete mixer for a weekend or from Monday to Friday.

James wants to hire a concrete mixer from Monday to Thursday.
How much cheaper is it to hire a concrete mixer for a week (Monday to Friday) than it is to hire
it from Monday to Thursday by the day? [6]
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13.
Carpet Tiles

(Area of a tile = 0.5%0.5=) 0.25(m*) OR(10x4)=40(m")
OR (50x50(cm®) =) 2500 OR (1000x400=) 400000(cnr’)
(Number of tiles = 40 + 0.25 =)160 OR (0.25x32)=8
(Number of boxes = 160/32=)5 OR (40+8 =) 5
(Cost=35x£40=) (£)200

Wood Strips

(No of strips inthe 10 by 4= 40 x2=) 80
(Number of packs = 80/8 =) 10 (packs)
(Cost=10 = (£)22 =) (£)220

Carpet tiles cheaper (bv £20)

Bl

Bl
Bl
Bl

Bl
Bl
Bl

El

OR (10+0.5 =) 20 AND (4+0.55) 8

F.T. 40+ 'their 0.25 OR 'their 20'<'their §'
F.T. 'their 160732
F.T. 'their 5'<(£) 40, provided number of boxes is a whole

number # 1 OR 32.

OR (40+(2x0.25) =40-0.5=) 80 (OR 5x16=) 80

F.T. 'their 80'/8

F.T. 'their 10" x (£)22, provided number of packs is a
whole number #1 OR 8.

Conclusion on their figures if at least B1 awarded for 'carpet
tiles' AND for 'wood strips’.
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Sticky Note

Very many candidates were unable to handle the units correctly.
Here the candidate thinks there are 80 tiles needed rather than 160.
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Sticky Note

However sketchy the diagrams, this candidate has made correct use of them to get the correct figures for the calculations.
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Sticky Note

Complete misunderstanding of the relationship between units of length and units of area.










13.

10m

Diagram not drawn to scale

Denise’s room is rectangular, measuring 10 metres by 4 metres.
She wants to cover the floor with either carpet tiles or wood strips.
Carpet tiles are square-shaped, measuring 50cm by 50cm. They come in packs of 32 and cost

£40 per pack.
Wood strips are rectangular, measuring 2m by 25cm. They come in packs of 8 and cost £22 per

pack.
Which type of flooring would be the cheaper?
You must show all your working. [8]











The aves of rectangie ABDE Is 39005m? €0 = 75cm ane DG = 25¢m \\\g.-%
Catcuite 2o of the falirang. R
*  the arey of trangle B0C, and
* e length of BC.
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The area of rectangie AZDE Is 3900cm? £0 = T5em ane DC = 25cm
Calcuate eacn of the faliowing:
= the arey of irangle 80C, and




Sticky Note

Very many candidates thought that triangle BDC was isosceles and that 
BD = DC = 25cm.



Sticky Note

Then went on to use it correctly in using Pythagoras' theorem.










The area of rectangle ABDE is 3900cm?, ED = 75cm and DC = 25cm.

Calculate each of the following:
» the area of triangle BDC, and
« the length of BC.

You must show all your working.
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The area of rectangle ABDE is 3900cm?, ED = 75cm and DC = 25cm.
Calculate each of the following:

» the area of triangle BDC, and

« the length of BC.
You must show all your working.

I————————r S L | S TS LEE RS et DR D R e B e L RN g ¢ e e i B | B R P s o e B AR R

oo S ] NN S S e 8 R P p e B A 1 S S R R TY W p ey pn vn w6 RRER A I ————— VY P L D RS T TE L L TR LE

I ————————————— T e T R T e s e i 5 B RN P ey e B



Sticky Note

Candidate has correctly found BC to be 52 and the area of triangle BDC to be 650, but the presentation is very poor with no units and the = sign abused throughout.



Sticky Note

Candidate uses the area as the perimeter to calculate BC.











The area of rectangle ABDE is 3900cm?2, ED = 75¢cm and DC = 25¢cm.

Calculate each of the following:
* the area of triangle BDC, and
» the length of BC.

You must show all your working.
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The area of rectangle ABDE is 3900cm?2, ED = 75¢cm and DC = 25¢cm.
Calculate each of the following:

* the area of triangle BDC, and

» the length of BC.
You must show all your working.

Temssemaanay L L L L T T L P T PR T T

RE |
- .2 A e "
M S ?;2-‘7
o - !/ 3329




Sticky Note

BC=52 comes from nowhere, but is used correctly in Pythagoras' theorem.
The presentation with 'x=' starting every line was condoned.



Sticky Note

Once again a candidate uses the perimeter as if it gave the area.










16. Check the diagram for any answers

(Length common side BD is) 3900 + 75 Ml
(BD =) 52 (cm) Al
(Area of triangle BDC =) 2 % 25 x BD M1 FT “their BD’, including BD as 25(cm) or spurious BD
(=) 650 (cm®) Al FT “their BD’ provided both previous M marks awarded
(BC*=) 25°+BD? Ml FT ‘their BD’, including BD as 25(cm) or spurious BD
(BC =) V3329 or BC*=3320 Al FT “their BD’ provided #£25(cm) and it is not a spurious BD
(BC =) 57.697... (cm) rounded or truncated Al CAO. Do not accept 60 (cm) unless 57(.697...) seen

Alternative for the fivst 4 marks:

Base of triangle =¥ * base rectangle Bl

Area of the triangle =1 x 1 %3900 M1
=650 (em’) A2

Alternative for the final 3 marks:

Complete method all stages requived to find BC M1
Intermediate stages answer correct Al
Final answer correct Al







16. The diagram below shows a rectangle and a triangle joined by a common side BD.

A B
] C
E D

Diagram not drawn to scale

The area of rectangle ABDE is 3900cm?, ED = 75cm and DC = 25cm.
Calculate each of the following:
e the area of triangle BDC, and
* the length of BC.
You must show all your working. [7]












